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QUESTION 1

What is the lowest level of granularity supported by Enterprise Replication? 

A. column 

B. instance 

C. database 

D. fragment 

Correct Answer: A 

 

QUESTION 2

What is the minimum database-level privilage required for a user to create Stored Procedure Language routines? 

A. DBA 

B. Execute 

C. Connect 

D. Resource 

Correct Answer: D 

 

QUESTION 3

Which isolation level is appropriate if you do not want your query to place any locks? 

A. Dirty Read 

B. Cursor Stability 

C. Committed Read 

D. Repeatable Read 

Correct Answer: A 

 

QUESTION 4

Which of the following statements is true about referential integrity? 

A. Primary and foreign key values must be integers. 

B. You must explicitly define constraint names for primary and foreign key columns. 
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C. A row in a table cannot be deleted if it contains a foreign key value that exists as a primary key value in the
referenced table. 

D. A row in a table cannot be deleted if it contains a primary key value that is referenced by a foreign key value in
another table. 

Correct Answer: D 

 

QUESTION 5

You are about to create and load a table that will initially have a size of 50,000 KB. Once the table has been loaded,
there will be very few additional inserts or updates to the table. When you create the table, which of the following extent
size definitions would make the most effective use of disk space over time? 

A. EXTENT SIZE 75000 NEXT SIZE 0 

B. EXTENT SIZE 1000 NEXT SIZE 50000 

C. EXTENT SIZE 50000 NEXT SIZE 1000 D. EXTENT SIZE 50000 NEXT SIZE 50000 

Correct Answer: C 
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